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QUESTION 1

During Consistency Group initialization, other groups are experiencing high load conditions.
Which utility can be used to reduce the negative impact on performance?

A. 1/O throttling

B. Detect bottlenecks

C. FC diagnostics

D. IP diagnostics

Correct Answer: A

QUESTION 2

When using a Distributed Consistency Group, additional traffic is generated between the primary RPA and secondary
RPAs. Where is this increase in traffic observed?

A. Additional traffic is seen on the WAN network between the RPAs

B. Additional traffic is seen on the FC links between the RPAs

C. No additional traffic will be observed because host writes are multicast to all appliances in a cluster
D. Additional traffic is seen on the management network between the RPAs

Correct Answer: D

QUESTION 3

After creating a Consistency Group with a local copy, initialization is taking longer than expected. What is a possible
reason for this condition?

A. Limited WAN bandwidth is available to the RPAs

B. Slow performing storage on the production array

C. Copy is not attached to the same splitter as production

D. Size mismatch between the production and the copy volumes

Correct Answer: B

QUESTION 4

A company is using XtremlO for their RecoverPoint environment. They have approximately 100 GB of cumulative
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changes per day with the change being constant throughout the day. The company has a requirement to roll back 48
hours.

How should the Journals be sized and how should the copy policy be configured to ensure maximum protection with the
least amount of storage used?

A. 5 GB with the "Required Protection Window" set for 2 days

B. 10 GB with the "Required Protection Window" set for 2 days
C. 40 GB with the "Required Protection Window" set for 2 days
D. 200 GB with the "Required Protection Window" set for Default

Correct Answer: C

QUESTION 5

A company has a database, protected by RecoverPoint, that has become corrupted. They want to use the Recover
Production wizard to repair the corruption. Which action must be taken at the production host prior to starting the
recovery?

A. Unmount the production volume(s)

B. Pause replication

C. Disable the Consistency Group

D. Create a bookmark

Correct Answer: A
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